

Dolgozz a minta alapján! (írd le egyszerűbben és add meg az eredményt)

$$(+18)-(-4)= 18+4= 22$$

$$(-9)-(+6)= -9-6= -15$$

$$(+3)-(-16)=$$

$$(-4)-(+3)=$$

$$(-13)-(-7)=$$

$$(-8)-(-12)=$$

$$(+6)-(+12)=$$

$$(+18)-(+5)=$$

$$(+7)-(+17)=$$

$$(+10)-(-16)=$$

$$(-18)-(-18)=$$

$$(-8)-(+13)=$$

$$(-1)-(+14)=$$

$$(+8)+(-6)=$$

$$(+15)-(-5)=$$

$$(+2)+(+9)=$$

$$(+2)+(-9)=$$

$$(+8)+(-7)=$$

$$(+4)+(-11)=$$

$$(+1)+(-7)=$$

$$(+8)-(+6)=$$

$$(-15)-(-5)=$$

$$(-2)-(-9)=$$

$$(-8)+(+7)=$$

$$(+4)-(-11)=$$

$$(-1)-(-7)=$$

$$(+13)-(+2)=$$

$$(+14)-(+4)=$$

$$(-12)-(+9)=$$

$$(-18)-(-9)=$$

$$(+11)-(+4)=$$

$$(-14)-(+3)=$$

$$(-20)-(+19)=$$

$$(-11)-(-7)=$$

$$(+20)-(-8)=$$

$$(-13)-(+5)=$$

$$(+11)-(-5)=$$

$$(+13)-(-8)=$$

$$(+11)-(-8)=$$

$$(-12)-(+7)=$$

$$(-14)-(-9)=$$

$$(+19)-(-7)=$$

$$(+17)-(-8)=$$

$$(-11)-(+6)=$$